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Variant 1
I. Translate the words and word combinations into English.
1. DinroXiaHUM| MICT 6. Makagam, meOeHeBe TOKPUTTS
2. 6110KOBaHUM OyIMHOK 7. 301pHHUIA, 31 30IpHUX EICMEHTIB
3. nepkBa 8. KapKacHa KOHCTPYKIIis
4. KpynHHI TpaBiid 9. miuTa, naHeIb
5. migBICHUA MICT 10. mminoH, onopa

I1. a) Translate the text into Ukrainian.
b) Put 3 questions to the text.
CABLE-STAYED BRIDGES

At first glance, the cable-stayed bridge may look like a variant of the suspension bridge.
But cable-stayed bridges differ from the suspension bridges in that they don't require
anchorages, and they do not need two towers. The cables run from the roadway to a
single tower that bears the weight. The tower of a cable-stayed bridge is responsible for
absorbing compression forces. The cables are attached to the roadway in various ways.
For example, cables can extend from several points on the road to a single point at the
tower or the cables are attached to the roadway and the tower at several separate points.
Today, cable-stayed bridges are popular as they offer all the advantages of a suspension
bridge. But they require less steel cable, are faster to build and incorporate more precast
concrete sections.

I11. Answer the following questions.

1. What do commercial buildings include?

2. What types of bridges do you know according to the type of their superstructure?
3. Which are the stages of modern road building?

4. What is a pier in a bridge?

IV. Translate the sentences into English.

KutnoBuiit OyauHOK — 11e OYyiBJISI, 110 MPHU3HAYEHA ISl MPOXKUBAHHS JIIOJEH 1 MOXKE
MaTU OJHY YW JIeKUJIbKa KBapTUp. 3aJie)KHO B1J KUIBKOCTI MOBEpXIB OaraToKBapTHUpPHI
OyIMHKH TOIUISAIOTH Ha MajornoBepxoBi (1-4 moBepxu) Ta GaraTomnoBepxosi (5 moBepxiB
Ta BHIIIE).

V. GRAMMAR TASK. (Passive Voice). A) Rewrite these sentences in passive voice.
1. They searched our car as soon as we arrived.

2. The manager had signed the contract before | arrived.

3. The Romans built many bridges and roads many centuries ago.

B) Translate the sentences into English.

1. ByaiBHHIITBO TOPOTH 3aKiHYATh Yyepe3 KijbKa MiCSIIIB.

2. Ha mamriit Bynuii 3apa3 OyayroTh HOBHU TOPTIBEIBHUM IIEHTD.






